% % 2 = (3—%)
[4]
‘ i \ | M (BHOBPOESX) : (BAOPFOES) |1
(79 1) - NEGEEY — (A9 1) | (P 1) . ‘
V6 5 i t 16 6 ( a+72 )E | 6 - 6 - 1 6
14 /7 M2 ' B2 2 2
(R 2) el AL 5 (R 2 [RhoR e B 10 (R 2 (2 88 ) 10 (Fg2) (RO AR Y] 10
2 YV |mEe MU g MU gy
EFnﬁS , 4
(A9 3) 3 6 AA, ABING y AT RERE OX, A ADQ = A CPB o500, MEZHEFGD 2 >Oxi 4 HE, EG o
8 _ xBETh A AR FNER, A, AR ET5, . BEE IR,
- 23 6 P94 BP9 SHEANE LS, BCI L5 AG LORERER L7 5,
B4 X = — |,y =— ‘ /DAQ = ZPCB - D
4 4 | 6 | saBDomsm Ay 0B BD o
F5 MU OA’ ADOO RS & A A’ ABB O s BCIZH HHABAE LG, ARIG.oo ARCA TH 505,
(RS 5] 7.25 % 6 DN B O TEH B, ZBPC= ZBAC ---® RA:RG=AC: GI=2:1
B0 LB ACITEATR DT, y
file %x<t+32)x8-—%><(t+2>><2—~12—x<32+2)><6 o Tn T £, RG :%
{9 6) 6 ZBAC= Z QDA (&/m) O AG
iz % B @, @LY, LQDA= LBPC @
Li=73-T, AABD &L T, DL, 2HOABZTRENE LD, E7-. AR 25 APQG ICHG S
AF128)— (14 2)—-102=3¢+ 24 (cm?) TAHLESR ] 40,
AGRJ o0 AGAE Tl %7,
B RG ,_ 1 _
RI=AEX -~ 2 =3x 5 =1
LT, kb DKL
1 1 o
C 3x4x?x1x§*26m
><7é
O
[ - () 2 em®
A P L e E
27 ) B3
_______________________________________________________ [an 3] — cim
, - 14 6
(B %) 3t+ 24 cm’ —
------------------------------------------------------- AADQWACPB % @ g _,_:;lj_ m‘.ﬁ‘%}.‘—i
11 a3 3 s
f=1 3 - [u[] 3 e hed
(1 3) x== 6 |3 20 fa 6




